(20202022) to (2021-23) ¥ | &opsS [ SS.C(Part-1) |11 - Seavo A
Mathematics ( Subjective) | 60: 4f 210 &% | 8sC-A-2022 | (L850 (L

L{,r:[a-u_m-;_dmtéf;grﬂﬁ'f;m (6 -6)LJirs U432 Ao Q = L §
ce-burg g g ed2y S A @ (3602 8oy 0 Aoy S Sz tirife 8

Note : If is compulsory to attempt(6-8) parts each from QNo.2, 3and 4. Attempt any (03) questions from Past il while Q.No.9 Is
compuisory. Write same Question Number and its Part Number as given in the question paper.
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Find the valuesof " ¢" and"d".
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Find the value of 'x': when Ing3x = 4 Iugax = 4 .(3 ép"" W, J'x‘ (v)

Write log 21 + log 5 in the form of a Single Logarithm. J:.’Uu: J?" J Zr(:’ Aol f log 21 + log 5 (vi)

_ir‘:]":*gl!'ab‘ Ma-b=3 ul a+b =7 f:{vii}
If a+b=7 and a-b = 3, find the value of 'ab".

Solve the Inequality.

3x + 1 < 5x - 4

Simplify. (V5 +{3 ) (V5 -J3") _EE A il

Factorize. 4x2 -(2y -z )2 _id /2 (ix)

Use Factorization to find Square Root of : xz e S ——}-‘-,,_- _irﬁ’d /ujfu’ f_f;.} i) 341
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Solve for "x . |3x-5|= 4 -E S ¥ [3x-5| = 4
Draw the Point (-3,-3) on Graph Paper. -é;,,—u: e (-3,-3) .8 {,56_5!‘)' (iv)
_ér)["‘ L.C"""'l J'c' ;:f'm'ﬁ’.’é:i./':ql.i: yﬁy = mx+¢ fix—y = 7 wlibs (V)

Express the equation 2x-y = 7 in the form of y = mx+c¢ then find the values of 'm’

and 'c¢',
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el Blen € A(6,6),B(4,-2) Uiz £ 46 (i)
Find the Mid Point between A (6,6),B{(4,-2)

Define Equilateral Triangle.
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Find the value of 'm' in the given Congruent Triangles.
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In the Parallelogram LMNP, find the value of 'm". -é‘r:"’-.:-EJ 'm' (£ LMNP Lieuigig (ix)
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